CAPT-LOCKS

GB Power Transmission is pleased to announce that a complete
range of locking hubs is now available from stock in NSW. Stock
of the B Series Single, D Series Double and FA2 shaft locking hubs
that are interchangeable with leading brands including Tollok,
Fenlock, Sati, KTR, Ringbloc and Tsubaki. As always GB Power is
bringing you leading brands at incredibly competitive prices and
backing that up with technical knowledge and great service.

Quality Guaranteed

Contact GB Power Transmission or our partners and distributors
for price and availability of the CAPT Lock for your next
requirement. Save your customer time and money with quick
and efficient shaft connection without keyways. Quality
manufacture, simple assembly and disassembly and competitive
pricing will help make the CAPT Locks your preferred choice.



CAPT-LOCKS

Suit for shaft 19~ 41000 (mm)

B CAPT-Locks are the commonly used

type. The machining precision of the
connect parts can be reduced if this type is
used which in tum reduces the machining
cost.
Using B type provides easy on and sasy
off capabiliies, has excellent installation
and can be self installed. The connection
function depends on its impacted power
and frictional power among the bore and the
shaft to achieve non-clearance joint and no
key is necessary so that some over
—_—-1 elaborate work such as key machining,
pressing installation and hot installation, etc
can be avoided. The working efficiency and
the lifetime of the machining parts can be
raised.

Egﬁ Nomenclature for CAPRLOCK type B
o

CL60X90B

L CAPT LOCK type B

ouler diameter D

bore diameter d

enterprise code

B CAPT-LOCKS CAPRLOCKS



CAPT-LOCKS

B CAPT-LOCKS ,

Tabde:1
C-atakag Fundamental dimensions Rated load Ps Phi Ma G
Sizesxh
dx Lz L L1 Fi{kn) | MuKn.m)| Mpa | Mpa | N.m Kg
CL19#47B 17 20 26 MExE 27 .24 213 80 14 .25
CLE0wATE 17 20 26 MBxE v 027 210 80 14 024
CLE2edTE 17 20 26 MExE 27 030 185 80 14 023
CLE5E08 17 20 26 MExH 30 0.38 160 85 14 .25
CL2fs5E 17 20 26 MEx1D 33 047 185 85 14 030
CLatks5E 17 20 26 MEx10 33 050 175 85 14 0248
CLasuG0R 17 20 26 Mex12 40 0,70 180 105 14 32
CLadus3B 17 20 26 hiEx14 46 (.88 185 105 4 L33
CLADkBSE 17 20 26 MEx14 46 082 180 110 14 034
CLa2T2B 20 24 a2 MBx12 73 136 200 17 35 [.48
CLa5xT5E 20 24 az MEx12 73 162 210 125 35 T
CLS0xA0B 20 24 az MEx12 73 1.7 150 115 35 (.60
CLESa5B 20 24 a2 Mext4 a3 .27 200 130 a5 63
CLéreS0E 20 24 az B4 83 247 180 120 as 065
CLE5ea5E 20 24 a2 MExTE a3 304 150 130 a5 0rs
CLY e 108 24 L ] M4 132 460 210 130 o 1.26
CL S5 158 24 28 a8 M4 ik 4.50) 155 125 fa 1,33
Gl 208 4 28 38 Mifmi4 i 520 180 120 0 1.40
CLA%1 268 24 2 a8 Miim16 148 640 185 130 0 1.48
CLE0x 1 308 24 28 38 M6 147 660 180 125 bt} 1.53
CL%5x1 350 24 28 30 W18 167 7.50 155 135 70 1.62
CL10CH1 458 29 3 45 M12x14 182 8,60 185 135 125 g0t
CL10521508 29 33 45 Midxi4 1580 9.5 185 130 125 210
CL110x1558 29 33 45 M12x14 181 10,50 180 125 125 215
CL120x1 G5B 29 33 45 M12x16 218 13,10 185 135 125 £.35
CL126x1 708 29 aa 45 M1 218 220 13,78 180 130 125 .95
CL130x] BOB a4 3a B0 W1 20 #72 17.80 165 120 128 A6
CL140x1 508 a4 aa BO W1 2 ey 20,50 165 128 128 81
CL160x2008 a4 3a B M1224 524 24,20 170 128 128 407
CL1G0x2 108 34 uli] B 1228 850 28,00 170 130 128 4,30
CL170x2258 a8 a4 BB W1dx22 04 32,80 160 120 180 E.7B
CL180x2358 a8 a4 BB M1dx24 421 37,80 165 125 180 £,05
CL190x2508 a5 52 BE M1 dx2a 430 48,50 150 115 130 B.25
CL200x 2608 a5 52 B6 M14x30 525 52 50 150 115 130 B.ES
CLZ0x2758 &0 56 72 M1Ex24 523 £2,89 151 115 25 | 1010




CAPT-LOCKS

B CAPT-LOCKS , 2

W

Catalog Fundamania] dimensions Rated load Ps Fh Ma ]
Slzesx
dxD L2 L L1 Frikm) | Muknam)| Mpa Mpa | M.m tg
CL220n2858 50 =[] T2 1626 B20 §4.00 150 115 5 11,22
ClL24m3058 50 5B T 16230 5 85.50 160 125 =5 12,20
CL25Mm3158 a0 56 T 16232 Fiti] 6500 6 125 &5 12,70
CL26Mm3258 50 56 T2 M1 6x34 B0 1 (00 165 130 =5 13.20
CLAB0NISSE Bl BE B4 1 B3z 15 12800 145 115 405 | 18,20
CLA0Mm3T5E Al 66 B4 1336 1020 15300 150 120 405 20,50
CLAZ0x4058 7 7B L M20e38 1310 210,00 150 120 B8R0 24,60
CL3dOnd 58 T2 T8 o 236 1310 2400 145 115 S0 .10
CLAGON4ESE B4 a0 112 36 1630 Fr 00 145 115 T 42,20
CLAgoxd F58 B4 40 112 M2 Eha3s 1620 800 135 110 TED 44,00
CL40m4sSE B4 a0 112 ME2a36 1610 200 13 105 T80 46,00
CLa2mB158 a4 90 112 [ ] 1780 Aran 135 110 TaD 50,00
CLabimEESE 96 02 126 M2 4xd0 2050 457125 124 1600 1000 | 6500
CLaBm5E5E 6 10 126 Mana? 2160 51840 124 100 1000 | 7100
CLE0MxENSE 96 10 126 M2axdd 2240 BE000 123 106 1000 | 7260
CLE3MEA08 96 L 126 Maaalh 2330 G17.00 121 116G 1000 | 8360
CLEEME S 95 102 126 M2 axal 2440 EA0.00 120 10 1000 | 8500
CLAEOM 108 G5 102 126 M22ai0 25B0 Tra00n 118 106 1000 | 91,00
CLEIM F408 i 102 126 M2 duq2 26D 84400 17 105 1000 | 94,00
CLETOxTEOE L 102 126 M244E6 2820 a4 00 118 108 1000 | 101.0
CLT B8 96 102 126 M2 2uf0 2970 | 10540 115 100 1000 | 106.0
CLYSOxBE0E 96 102 126 M24xB2 MN¥ [1iTAD 15 160 1000 | 1120
CLA0MG 108 9 102 126 M2LuB6 3260 | 1000 112 106 1000 | 1160
CLAGMRENE 96 102 126 M2 4x 70 AEDD | 14870 113 164 1000 | 1250
CLA0Mm 0108 i 0@ 126 M24475 A6B0 | 16500 112 100 1000 | 1320
CLa50 10808 O 102 126 M24480 a8?0 | 18380 112 100 1000 | 1350
CL1000x1 1108 9 L 126 M2 4000 | 20000 L] 108 1000 | 146,0

The gems in table 1 are standard products in stock . The Bems in table 2 will be produced against orders.




CAPT-LOCKS B

Technical & Installation

Quality Guaranteed

Key elements for designing and calculation B
1.Dsterming max torque and max axial load
5.5ettlement for the surface roughness and

30000H
Mmax = ——==—K (N m) dimension tolerance
Fmax =F«K
HeTransmisslon power KW Rafum)
n=rotational speed rimin Fittng section | Surface rcughness | Dimension precision
H—coefficlent nesded
Used coaflicient sheal for K Shalt diametir d 1\-:3/' hi-H9
Shesl Tar coaflicient uwsed K .
Bore diamefer [ %” Hi-HY

Mo shock kad, fransmilting wih Idde inertia | 1. 5-2.5

glnstallation for CAPT-LOCKS
Shght shock load,Irzramittrg wit middle nestla | 2.0=4.0
Chaning the CAFHUOCKS, then instell t inte comasponding

Big shook koad, transmitting with haavy inatia | 3.0-5.0 postion of hub and shafl(Rel Drawing A). Then ace, 1o tha order
in Drawing B. Tighten the boks i tum, the bolis should ba

2.Calculate synthetic load and transmitted torque lightened step by sep in 3 1o 4 limes up ko spacifiad raled lonque,
Mpmas M After correct installafion, CAPRLOCKS should be inspecied

radiel and axal runout a8 per A€ 0L05mm,B € 0.002Rmm.

Mb _J’ M_m:+{g ) |

= Fma

hajoy

bmax—Raguired transmit torque Mm A
Frus= Reguirad transmil axiel force M

W — synthetic transmit torgue Nm

d—Tranemigsion sheft dametar mm

Mi=CAFT lack ratad transmitted torqua M

W Z Mh can be used,
Wi<hk need bigger type of CAPT lock of 1o be inslallby two
CAPT locks of mare together

3,Calculation for the hub diametar

[eb+ KasPh
Da » D [Qb+KarPh
82D | Gb-Ka-Ph 5

Da—outside diamater of hub mm

D=inside diameter of hub mm

Phesuface pressures on hub Mpa

{Th=tansile strangth of material

Wit should ba 06 for single CAPT lock, it will B 0.8 whan fwo
CAFT kecks or rmore are inslaled legebaer

4, Calculation for the inside diameter of cannan

| Ob - 2xPs.K3
N'I Jo

dB ¢ d

dB=inzide dameter of cannon mm
deautsice diametar of cannon mm
Gh=tonsin sirongth of shaft material Mpa
Po==pressune on the surface of shaf Mpa
Ka=coaficeni=06




CAPT-LOCKS B

Technical & Installation Cuslty Goarantocd

7 Dizassembling CAPT-LOCKS
Corvanticna] mstallabon, for thie
Jsage af crdinary shuaSian and
genaral power Iransmission,

7,

I D-M Lacas and mermove
4_._%_. L B I tha tightening boks

I-'rq"u Used in pairs, lor (hs
i | usage of greater powes

I\H/I Transmissomn L .

e W

3 ' [ Maolrad with shalt
| 9 s|loeves to connact
- ErRMESMISEHON bataean
1 ..-"'" T 2nalle, They have
\". E ﬁ s sama functian with
p ocoupings,
| f

Pul bolts inta b corresponding (hreaded
|ack hollas, turning tha hoks in clociosisa,
Mounted with tha couplings

|oose the inner tapar rings,
1o connocl Iransmess:an i }
banween wo ghafts y

; =

Insialled from biothi sickes.
far e ussge ol greater
Dovear ranamiasian

=

Pull out the bole wilh slrenglh, loose and
rama JuRer apsT fngs

e

Whils installed with cams,
Ag far disassemblng keaose and remove &l the tamtening balks ihe pesilion and angel of e -

first, then place the urloading bolts in the corresponding cams can ba anjustad a1 wil //7 \\
unlpading tap holes (e, tap holes with bolis zine plabed),and @

tighten tham in urm, tEper ings on the both sidesof CAPT lock I\_ !
can ba gradually seperated. By doing so, the inner and outar - .':'
rings will cownter spring owut from the bore of hub and sudace
of shaft, Than tha CAPT lock can ba disassembled.




CAPT-LOCKS

%mﬁ_?}?f};%_

R KE::”&%

D CAPT-LOCKS

A N A T P A

—Er_&{{{\f{m{x{wf‘m

"ﬁ}??fff;ﬁﬁ?f;’??} s
4 e \

suit for shaft diameter ¢25—$340 {mm)

D CAPT-Locks is a heavier type of the B
CAPT-Lock which has the connecting capacity of
two or three times that of the B type. The
dimension seres of the D type isthe same as the
B type so you can simply use one piece of the D
type and reduce costs.

D CAPT-Locks has characteristics of self
installation and good concentdcity. The guiding
tapar surface does not need to be machined
specially. The central bore of the hub and the
surface of the shaft all align which helps in
cutting production time and monay.

D CAPT-Locks have the characteristics of easy
on and easy off, high precision for installation
and connection capacity. The connecting
function of D CAPT-Locks comes from the
friction and pressure between the CAPT-Locks
and the shaft and hub. it connects without slot
and key . Thiz eliminates the need for machining
the keyway, pressing installation, and hot
charging. D type can be used with heavy duty
and larger torgue transmissions.

Nomenclature for CAPT=LOCKS type D

CL 200 X 260 D

CAPT bock type D

oulside diameler D

shaft diamater d

enterprise code
CAPHLOCKS



CAPT-LOCKS D

D CAPT-LOCKS .

Catalog Fundarnertal dimensions Rated load Fs Ph Ma G
SizesyN
D LN L B Ftikn) | Mifnm)| Mpa | Mpa |Mm | Kg
CLaBxTED G fd T (AEEE] 160 451 179 108 41 128
CLaBxBOD 56 B4 T2 Maxs 160 372 168 11 41 1.41
CLAOxAOD £ fi4 T Max4 170 43 162 1@ 1] 1,35
CL55xR50 =1 B4 T2 Maxa 170 4.7 147 a5 41 1.45
CLEOxG0D G fd EF Mex11 160 581 165 110 41 1,55
CLasxash &6 B4 T2 MEx11 180 810 130 4] 41 1.82
CLMm1 10D fa ] ] M1 0 114 17 114 K] an
CL7ex115D 70 7B iz} M1 =0 12,6 167 109 B3 5,28
CLA0 T 200 T '8 &8 Miowi2 0 147 " 114 a3 3,45
ClLagx1z25h 70 7B ER M10x12 360 16,6 161 104 B3 3,63
CLSh 1 300 Fit] ] &8 M1l a0 1759 165 114 a3 A
CLAEx 135D 70 7B B M10x13 380 18,9 158 110 Ba 5,87
CL100x Y450 an 100 112 M1tz 457 233 181 108 145 6,80
CL110x 1550 a0 100 112 M12x13 533 0.4 180 110 145 7.560
CL120m1650 an 100 112 M12x15 617 ar 185 119 145 B.60
CL130x 1 800 104 118 130 M1£x13 K= 49 180 111 ] 111
CL14m 1800 104 116 130 Mi12xis B4 58 186 13 0 AR
CL1E0x2000 104 118 130 M1&x1B Ba7 a7 165 123 ] 128
CLiB0R100 104 116 130 M14a17 50 TH 183 123 30 134
CL170x2250 134 148 162 MiGx1s 1223 104 172 110 355 14,6
CL1BMx23sD 134 145 162 Migxia 1268 116 e 13 355 20,6
CL190x2500 134 | 148 162 M1Gx17 1363 130 i 113 355 238
CL200e2e00 134 145 162 M1Bx17 1368 1386 172 104 355 24.9
CL220x 2850 134 148 162 M1Ex20 1662 174 17 114 356 296
CL240x3050 134 145 162 M16x22 1725 207 172 120 355 a1.8
CLAG0xES50 134 | 146 162 M 22 1600 ] 170 110 356 344
CL2B0xEsS0 185 17 197 M20e20 2428 340 168 118 BE0 52.0
CLAOMTSD 165 177 197 M20u22 2540 1 161 112 G50 553
CLA20x405D 165 17 187 M2e22 2761 431 175 122 B4 67,3
CLA40md 250 165 177 187 M2 24 2954 5059 M 108 5 71.0

Tha fems-< CLAMIX2G00 are standard products in stock, the items = CLAOMK2600 will be produced against ordars



CAPT-LOCKS D

Technical & Installation

Quality Guaranteed

c A PT_ L oc‘Ks D caprLocks Assembling diagram

A.CAPTLocks can be
1 Temperature of the Y TS % wmembie and rasenbied
repeatedy. But afier the
repeated installafion and
disassembling, the shape of
the CAPT-Locks can alter
shighthy which will reduce the
amount of torque.

work environment for

the CAPT-Locks i from
=30 C to 200 G, atherwisa
tha CAPT-Lacks will not
work efidenty.

4.1 the CAPTLocks are
installed with tha shaft with
keyway, the raed torgue will
be reduced by roughly 10%.

are used in tha opan of in
aplace of high humidity

and moisture, it should be i‘i
profecisd from nust.




CAPT-LOCKS D

Technical & Installation

Quality Guaranteed

Key elements for designing and calculation D/DS

4 Calculation for the inside diameter of cannan
1.Determing max torque and max axial load

e = 39000 e AN

el Mai%ﬁ.\
Fmax =F K 3
— L)
H=Transmissian power KW il 4
r=rotational speed fimin alsl 5 | i
Femgpailicient neaded 5
Used conficiant sheet Tor K L
Sheet for coeficient wed K
) . ) f
ok load =25 - .
4o shock boad, fransmisting with littke inertia | 1.5 dB < d ll"jb 25 K3
W h

Sl shock boad sansmitling with middle inefia | 2.0=4.0

dB—inside diametar of cannan mm
g=putside diametar of cannon mm
Gib=tensila strangth of shaft material Mpa
Ps=prassure on the surface of shaft Mpa
K3=coaflicient=0.6

Sig shock load, ransmiting wen heavy inertia | 3.0=5.0

2.Caleulate syrthetic load and transmitted torgue

M He M'
5.Seutlemeant for the surface roughness and

dimensian tolerance

=/ i
Mr'_.d" “::mna*i% :':Frru.: ) Cleaning the CAPTLOCKS, then install it inke cormesponding

pasition of hub and shafi{fRef Drawing &). Then acc. to the ordar

d .FIB in Drawing B. Tighlen the bobs i ben, the bolls should be
1y stap in 3 to 4 fimes up fo spacad n e,
2 tghtaned siep 1| 31 4 tm o dad rated torg
After correcl insisllation, CAPRLOCKS shoukd be inspecied
Mrax—Required transmit torgues Mm radial and axial runout as per A% 0,05mm,B % 0.002Rmm,
Frix=Required tranams axal force M
M= gyrithetic fransmit forgue Mm A

d—Tremsmission shaft diameter mm
Mi=CAPT lock rated transmitted torguee Mm

Kt = M can be used,
Mt< My need bigges ype of CAPT ek or 1o be install by two
CAPT locks or more logather

B
3,Calculation far the hub diameter
e
DazxD Ifﬂb'l'ﬁﬂ'?h
o Ob - Ka-Ph
¥

Dar=cutside diamater of hub mm

Dmingide diamabter of hub mm

Ph=sulace pressuras on hub Mpa

O b=tenzle strangth of matarial

Ha=gi should be 06 for single CAPT lack itwill be 0,6 when fwa
CAPT bechs or more are Installzd togethar




CAPT-LOCKS D

Technical & Installation

Quality Guaranteed

6.0sterminge the surface roughness and dimension tolerance

S ——. |
. Cormvantiond insiallatan,
H'.'.II'IQ sechon surface TDIJQI'II'IB!E- Jemanaion precision Tor The usags of ardinary
srhuation and gnnnral nioAear
shaft diameter d ‘I\.f/ hé tran smisson
bara dearmetar O %’{ Ha

7.Disassembling for CAPT locks

Usad in pairs. Suitable for the usage of greater power
transmission

0.

1Llooss and remove all the tghianing baoks first then place ihe
unloading boks in the comesponding unloading tap hole of the
ighening tapar ring in A side, tightening and pressing in propaer

order, separate the tightening taper ring in A side with the inside

and ouisida taper bushas step by step. Mounbad with shas shesvas to connact
fransmisscn bobvoan w0 snals, “‘Ilﬁl

have the same function with couplings

i

2 After removing the thant taper ring In A side, place e unloading
baks in the coresponding wrleading tap hele @ the midd|e

ring, ightening and press in proper order, separala the lightaning

tapsr ring in B side with the inside and outside aper bushes
51 slop f he ather sida.
stop by stap from the other side While installed with cams,

O type CAPT LOGCK can be easily disassembled affer the above lhe postion and anghe of

w0 steps. I CarreE can e adusiad
at will




CAPT-LOCKS FA2

Technical & Installation

Quality Guaranteed

CAPT-LOCKS FA2

(]

|

&d

0
Al

FA2 CAPT-LOCKS , _—

Catalog Fundamental dimensions Rated load Ps Ph Ma G
SizasxN [

dxD L (| L |Lw|m Ftikn) | Min.m) | Mpa | Mpa ; M. | Kg
CLiBxd7FAZ | 17 | 22 | 28 | 34 56 MExE [ =8 0.25 241 85 17 | 026
CL194TFAZ 17 | 22 | 28 | 34 56 MExS 2B 0.76 225 95 i 17 | 027
ClL20xaTRAZ 17 | 22 | 28 | 34 56 MExS 26 0,28 220 85 17 | 027
CL22w4TFAZ 17 | 22 | 28 | 34 56 MExS 28 0.30 200 a5 17| .28

| CL24xS0FAZ 17| 22 | 28 | 34 L MEx5 28 0.533 180 40 17 | 029
Cl2sxs0FA2 17 22 28 34 58 M BxF 34 e 210 105 17 029
ClLoaxssFAR 7 22 28 34 B4 B 34 047 180 95 17 035
CLAteS5FAZ i7 22 28 34 B4 ik a4 0.50 s 95 17 040
CLAZeEOFAZ 7 22 28 a4 G5 MiinA 45 0.7 220 116 17 0.44
CLAGRBOFAZ 17 | 22 | 28 | 34 [ MExA 45 0,79 200 | 115 17 | 0,48
CLAANEEFAZ 17 | 22 | 28 | a3 74 MEx8 45 0,85 185 | 105 17 | 0448
CLAGBEFAZ 17 | 22 | = | 34 74 MExa 45 0,90 175 | 105 17 | 055
CLA2xTEFAZ 20 | 25 | 3 | # B4 MExT 73 1,43 225 | 125 41| 0.7
CLASKTSFAZ 20 | 25 | 3 | # B4 M7 73 1.80 25 | 125 41 | 0.0
CLAAxA0FAZ 20 | 25 | 3 | M BS MaxT 73 1.7 200 | 120 41| 081
CLS0xE0FAZ 20 | 25 | 3| | M 85 MaxT 73 1.79 185 | 120 a1 | BT
CLS5xB5FAZ 20 | 25 | 3| | M 94 Maa a3 210 200 | 130 41 | 058
CLE0xI0FAZ 20 | 2 | 3\ | M a4 M 83 232 1BE | 125 41 1.00
CLEIxI5FAZ 2o | 2 | 3 | M 104 Maxg a4 2.51 188 | 130 41 108
ClasxasFaz 20 25 33 41 104 [ R G4 250 150 130 41 170
CL110FAZ 24 an 40 50 118 M1t 133 463 210 135 [~ 173
CLTS115FA2 24 a0 44 50 124 M1l 133 500 185 125 B3 1.55
Clocei2oFaz | 24 | a0 | 40 | S0 | 129 M10x8 133 5,30 185 | 125 B3 | 1.8
CLAsx126FA2 | 24 | a0 | 40 | &0 | 13 M10x8 148 6,30 185 | 135 B3 | 220
Cla0x13oFaz | 24 | a0 | 40 | &0 | 134 M1 148 6.75 165 | 130 B3 | 228
CLO9«136FAZ | @4 | ao | 40 | 50 | 144 Mi0x10 166 7.80 185 | 135 B3 | 320
CLioOx145FaZ | 28 | 32 | 44 | 568 | 154 M12xB 184 8,70 200 | 140 | 145 | 340
CLI10x1S5FAZ | 26 | 32 | 44 | 568 | 164 M1ZxB 194 10.6 160 | 130 | 145 | 365
CL120x165FAZ | 26 | 32 | 44 | 36 | 174 M1zxB 216 130 185 | 135 | 1an | 525
CL130x1BOFAZ | 34 | 40 | 54 | 68 | 189 M12x¢12 260 188 175 | 125 [ 145 | 583

Mote: A the fterms Jsied abowve are for the standard peris in stock



CAPT-LOCKS FA2

Technical & Installation

Quality Guaranteed

CAPT-LOCKS FA2

FAZ CAFT-LOCKS i Table:2

Catalog Fundamenta] dimensions Rated kad Pg Fh Ma | @
SizesxN
dul L1 || L Ls | 01 Ftikm) | Mtknm) | Mpa | Mpa | M.m | Kg
CL140n190FA2 | 34 40 94 =] 188 LR 250 2L TS 120 230 G445
CLISE00FRAZ | 34 40 a4 G 204 M14x10 333 2da L 130 23 G245
CLiGmZ10FAZ | 34 40 54 6B | 215 Midx1i 362 28.9 e 135 230 7.5
CLITOms25FA2 | 44 | B0 [ 84 | 78 | 234 M1du12 400 Az 140 [ 108 230 | 832
CL1BRPIGFAZ | 44 D Bd 78 244 M14x12 400 356 135 105 230 9,12
CL120w?50FA2 | 44 50 Gd K] 258 Midx15 500 46,5 TEh 120 230 9.58
CLADO=ROFAZ | 44 | BO | 84 | 7R | 268 M14x15 SO0 48,3 180 | 118 230 (11,7
CL22d5FAZ | BD 56 72 BB 204 M1Ex12 Y] 58,0 145 110 aks (164
CL240c306FA2 | 5D 56 72 af 314 M1Ex15 725 8.0 165 130 a65 |165
CL260n325FA2 | 50 | 66 | 72 | BE | 334 M16x1E B30 102 180 | 145 355 [17.7
CL2B3SEFAZ | BD EE a4 102 | 364 M1Ex1E o35 11B 150 120 465 (240
CL3DI3TEFAZ | 6D BE a4 102 | 364 M1Ex1E 1050 142 160 125 4B5 |25.3
CL320n405FA2 | T4 Bl | 101 | 121 | 414 M20x1E 1365 18E 150 | 120 BB0  |38.0
CL30mA25FA2 | T4 E1 10 121 434 M20m21 1550 230 175 135 BB 400
CL3B0n455FA2 | BE 84 116 | 134 | 464 M2 B 1675 256 140 110 230|480
CL3gnd75FA2 [ 86 | 94 | 116 | 138 | 484 M2au 1980 310 1585 | 125 830 [57.0
CLANmAG5FAS | B6 4 & | 138 | 504 W22 1980 52 150 120 830 630

Mote: Allthe iterns Bstad in the above tabla will ba produced against orders

sh thro r

W Bkt e s borch
AL e
N |r: :;mnj d‘lr-E-II:I:CIH:IEJrIr.g

Sl Hi usage, thus inner ring and hub
bore will ba lightened,

Positioned with hub end and
then fix the poagilien in axial
dirgction, Tha outer fing moves
in muial direction durng usage,
fhus infer fng and hub bore
will be lighlerad,

-

Installad  with nondhrough
bored hug, and posihonsd win
hub end. The cuter ring moves
i axisl Freclicn durng usags,
s Inmar fing ard bora of hub
will ba tightenad,

AN




